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OFp 4 $35% (FreeeForm) ~ *£ % 4] % 7 2 (Implicit Type Declaration) #23;% 3% =
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- PF\: M AR 5 ﬁ%] ’ “L%F“”" ? (10’4’\)
#include <iostream>
#include <cstdlib>
using namespace std;
int main(void) {
int i=0, sum=0;
while (i < 21) {
if(i ¢ 3 1= 0) {
1++;
continue;

}

sum += 1++;

}

cout<< "i=" <<i<< ", SUM=" << sum <<endl;

return 0;
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#include <iostream>
#include <cstdlib>
using namespace std;
void funl (int, int);
void fun2 (int *, int *);
void fun3 (int *, int, int);
int main(void) {
int all={1, 2, 3, 4, 5}, 1i;
funl (a[l], al3]);
fun2 (a, a+2);
fun3 (a, 5, 0);
cout<< "F {TATF S¥eid o LIeph B 5 " << endl;
for (i=0; 1<5; 1+4+)
cout<< “al” << 1 << “]=" << al[i] <<endl;

return 0;

}

void funl (int x, int y){
int tmp;

tmp=y;

Y=X;

xX=tmp;

}

void fun2 (int *x, int *y) {
int tmp;
tmp=*y;
*y=*x;
*X=tmp;

}

void fun3 (int *ptr, int n, int num) {
* (ptr+n-1) = num;

w o TR - BREDPython 2 > FRAFRESAEELR? (104)
for i in range(l, 7): #A 2 - % 1,2,3,4,5,6 chEE#HFR 7|
for j in range(i, 1, -1): #-1 4% 7F+ & (step value)
print ( non , end="" )

for j in range(l, 7-1i+1):
print (j, end="")

print ()
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name % 4+ & g5 (private) F 8 FALIE P
quV%¢j"‘mfﬁﬁbﬁﬁﬂﬁB
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